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Snooker

3 or 4 reds.
12"&16"=55sec, 22"&26"=50sec.
#5&#7=bi-directional & any order.
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Gamblers==-1-2-3-5  point system
Dog-walk=5 point.  two contacts & weaves=3 point.  tunnels & tire=2 point. Jumps=1 point.
Opening time=12" & 16"=42sec, 22" &26"=38sec.
Gamble time=                =15sec,               =12sec.
Gamble point=15point.

F

F

S

S
1

2

3

4



5

5

10

10

15

15

20

20

25

25

30

30

35

35

-10 -10

-5 -5

0 0

5 5

10 10

3.21 JP1

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15



5

5

10

10

15

15

20

20

25

25

30

30

35

35

-10 -10

-5 -5

0 0

5 5

10 10

3.21 JP2

1

2 3

4

5

6

7

8
9

10

11

12

13

14

15

16

17



5

5

10

10

15

15

20

20

25

25

30

30

35

35

-10 -10

-5 -5

0 0

5 5

10 10

3.21 JP3
1

2

3

4

5

6

7

8

9

10

11

12

13
14

15

16

17

18

19



5

5

10

10

15

15

20

20

25

25

30

30

35

35

-10 -10

-5 -5

0 0

5 5

10 10

3.21  NO1

1

2

3

4

5

6
7

8

9
10

11

12



5

5

10

10

15

15

20

20

25

25

30

30

35

35

-10 -10

-5 -5

0 0

5 5

10 10

3.21 NO2

1

2

3

4

5

6

7

8

9

10

11

12


